EARAROBREBRT —5 XN—ZXBISH—F 202111878 (B) 14EHEE5H

7‘/ ROXSEEHE C2 YSR3IRE ‘(fﬁ} " ‘I%EH?’JFE‘?] - | 5 1300 =
[xE%] 15 :400,000H  23&:120,000H  3#&:64,000H  43%&:32,000H  53&:24,000H
B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
S W 4 5 | BSE—E 1:24.6 2-2-2-1 [38.5| — 1 512 | tHEBE (ER)
11718 ??{{\UMI} 54.0 (-) @) | KER_EB
RPYYF—THAF B:LAFIILY SETERS
— 9 s = ; 64 _ BT (5
25| 5 | F4PTTIVRIS— €Y 6 %%:_{_ (11214/29) 7-6-4-4 | 38.1 5 (4_791) iE(%:) ?Pwa%%ﬁ
RiFVIANZAN 8:Z—<IbA kX FATPUVRARIST
N R | . 45 _ &l g
3 5 | = RK—F 3 éﬁ*ﬁ 1.(245).6 4-4-5-5 | 39.0 3 (4_633) %%_uﬂé (E8)
RPRIAVL—Y BPRIAVTAT WA g5
1B 3 | Ry TP =7 %3 | WOm 1 (:12/52.)7 3-3-3-3 |39.4| - | 7 (4+e63) zsg (2D
RIYZRI—ZZRI— BTV g EL
o = Al :26. -8-7- . - SHERIF (28)
5| gl0l /S HY 4% 5 G (11 216/20) 10-8-7-6 | 39.4 6 (4+711) o MWE
R:O—IVIUY B:TSALTIRNVR #HBEIT7—L
= o 5 | SHIES 1:26.6 5-5-6-8 | 40.0 | — 2 a4 | MIHEZ (E8)
618119399 TIUNA 56.0 ) (-3) | CHHIERER
RiXAYavR—5— B:LUvIL—3X HBI7—L
— % ] 5% 2 . 1-1- _ = o
1 - PIES A 7 | REESL (17.2’§% 1-1-1-2 | 40.7 8 (4;0) é%;ﬁ}k (=5)
RixAIZI7—R B:RU—LT4—F R pivaL: e ]
- I8 : -9-9- - B (£E)
811 | T—27IY2 4% 5 54.065 1(.32/52.)3 8-9-9-9 |39.0 1 (4_135) i Z—F%I—Z
R:O—LIo 40 B:Eeyd—YvARY BF &=
— N o REE_ : -7-8- - KHEAE (K8)
9 4| RAF4—T—IUR 48 =8 (1}_;296% 6-7-8-7 | 39.7 10 (5_55 i JPN%H
R:I—LRPUI—L BRATA—R— J=YYT7—L
. SY AT AY HhEA : -10-10- - BH—X (£8)
1007] 9 | ELY IR % 5 54_0|_ (11217/21) 9-10-10-10 | 39.0 9 z:g;) Il =
RAREFY BNIAT 4 —Y EL
= st 4 | NIEEFEA 1:27.4 11-11-11-11/ 38.9 | — 4 | 45 | KBEEK (EE)
EH 6 FTHFSTUA A51.0 (1172 -5) E‘Z'Z-‘E;'El_ﬁ
RiXAY3IR—5— B:URZALRTYS Ty rRF—TI
@ 1—F—&RIEL
13—7— 7,8,3,2,11,4,5,1,9,10,6
20—F— 7.8,3,2,11,5,4,10,1,9,6
30—7— 7,8,3,5,2,11,10,4,1,9,6
47— — 8,7,3,5,2,10,4,11,1,9,6
0 ILRE
BB 8 110 JA R 5-8 360M4 e B 5-7 900/ 3EE 2-5-8 1,300
B B 8 1009 2-8 1809 5 & 5-8 810 3EH 8-5-2 3,800
5 270 2-5 1,160 Ba 8-5 1,030
2 160M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




